LN & ﬁpw? -
O K74k ( )
150 Foh-tyF 5004 150 0 74#Y= (P\)
M\/g 21502150 M\/go O 74bYnR=M(MLS)
2 2 0 %—5yun—M(MDS)
R
_ " 0 79—y (PGR)
© o~ 0 739 (PBR)
= J{ ‘H CRssRenaTEE J‘[ o g8 5 DI % & B ft 5 0 75v4 (PBK)
< 1 lh e C ] e W 0 94> (PRW
; = H v
. : ii N o = Bkt (OIS OIBA3E  CezigE [Es 25RO 7AKY—KIAH
$32 (ARTE) ii HIx (BlgI%) ot b | E0EDEE (JPMS 28 0 -1
~ B BB |OBER(SD  Oeszrsdhh(SAD
33 = O] ARES - £ J (X0 £H2% : JPMS 28) %K@
- B b | SHBRo- @ 8 2T - 35%) I W H
= 33 O i O] 55—k T&|  DWI dw2 DH1 dh2
T ii BB | BERE (10.6) o 1028~2308 1700~ 2400
" I : I == ~ = — = SULHER
5 | e , = Y % E| A-h% P 52271162 1720~2420
L 33 S FMATE £y | SD-565-2 e 1028~2308 1700~ 2400
A ii ety EN £00v5 | UILA20-1 (BS=64/40) = 52271162 1720~2420
Il — /N
33 1o GP-LG-5BU (BS=64/ 40) . 1028~1828 1700~2100
] = N 559 250 BmEE | 0D-508 522922 1720~2120
i x| T
:: P & Py T4 (ST £9va— | GA-14 - 1028~2308 1700~2100
(] 77—
: = T7 441 34 (SATI) £9va— | N—455 52271162 1720~2120
‘ii K704 ya-t | S1003P (St (F7v2>)
| E— i 1 KPSy #E2E | D-119 (F753v)
1| j | HE
D  mEe |
W J2 150f 150| 6w
(2750 2150)
DW 6 DW e We
11 W= 1
S SR
5 (D R 5O (R AR
B+ " Ts4% ¥ @ T 5 I3 i) = B R |£X% HENZE Wy NE YEES
R AT % z8 4 4
L n |BBPE Iu 270 (ERELL, L2, L3, L4 1 =X 2 L
e 20 CME- $EBHTYH) BB (SGR- SFI) - N BXIVL—7 A&

ACLT21BXRTA1BASE—A LS—R207

OOOOOD



